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PUNJAB EXAMINATION COMMISSION 
EXAMINATION 2017, GRADE 8 

MATHEMATICS PART – B (Subjective Type)  

   Part-A: 48 Marks, Part-B: 52 Marks, Total: 100 Marks 
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General Instructions:                                                     �������	
�   

1) Read carefully and attempt all questions.              �
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2) A question can consist of one or more parts.                   ���������� �!"#$%&���� $'��# $%� $'������ $'�� �� 
3) Use blank space given below each question to write the answer. No additional page will be given 

for writing.                   ������( )*�������+���,"�-�.�/�0�12�3�4"�5���6/�����7  #$%"�8��9�:;���<�=>�  �� 
4) Use black/blue ink for writing. Use of lead pencil is not allowed. 
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Q.No.33.(a) If U={1,2,3,4,5,6,7,8,9,10}, A={1,3,4,5,6} and B={6,7,8,9,10} then show that  
(A∪B)c = Ac∩Bc 

?���� @ AB# C%�D  B={6,7,8,9,10}
�� A={1,3,4,5,6},  U={1,2,3,4,5,6,7,8,9,10}E� 
(A∪B)c = Ac∩Bc 
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(b) The area of a square shaped park is 28561 square metres. Find the length of a side of 
the park.   ���� ����������	
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Q.No.34. (a) Evaluate the following and express the answer into decimal number system. 

 ������ !�"
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(�$)*�+�,��-�  
(146)8 – { (234)5 - (44)5} 
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(b) A man left Rs. 300000 as inheritance. His heirs are a widow, one daughter and a son. 
Find share of widow, daughter and son in inheritance according to the Islamic rule. .)/� ����0 
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Q.No. 35. (a) Solve     (3x3− 4x2−x+15)×(x-3)
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(b) Fatima bought 4 notebooks and 3 pens for Rs. 150, while Ahmad bought 2 such 
notebooks and 3 pens for Rs. 90. Find the price of one notebook and one pen. GH��0� ��IJ���
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Q. No. 36. (a) Construct a regular hexagon ABCDEF where mAB  = 2.5cm. 

m AB  = 2.5 cm�P�UV ABCDEF �;W�X� ��� 
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(b) Construct a rectangle ABCD when mAB =6cm and mBC =5cm.  

m BC =5cm �
	 mAB =6cm P�UV�  ABCD Y   
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  Q.No: 37. (a) By using Hero’s formula, find the area of a triangular region when the 
lengths of its sides are 15m, 20m and 25m.  �Z 25m �
	  20m،15m  [�)\���]̂_`a ����(b�� ���c�de��If����gh����;��P�������	
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(b) The number of units of electricity consumed by 22 houses are given below. Construct a 
frequency distribution table by taking size of class interval 10. 

�� i�� !� jk�)�l��� � Nmn�8o�pq����r���I(�� �� �st���UV�p(L ju���v�$)l���w�x(�  
70,31,55,61,62,31,69,72,44,50,47,25,24,25,43,64,33,55,36,45,57,73 
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